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1. Name three points that are collinear.

_‘k 3. The notation for the segment 7 and O is

> — S—

PO PO oP

4. If RS=44 and OS = 68, find OR.
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Name:

<¥ 5. Let B be between
CB=4w-4
BD =2w-38
CD=24

R, S, and T are collinear. S'is between R and 7. RS = 2w_+ 1, ST =w— 1, and RT = 18. Use the Segment Addition

6.
Postulate to solve for w. Then determine the length of RS .
\ 7. IfAB =17 and AC = 32, find the length of BC.
17
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_‘x 8. Find the distance between the points (—4, 6) and (-1, 5).

S_ 9. The distance between points A and Bis
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‘% 10.

11.

12.

Find the midpoint of the segment with endpoints (-2, 4) and (-4, 3).

(-3, 2] (=6, -7) [1,4]

L 2) L £
Which angle measures approximately 112°7?
A C.
Arra——
B o D.

If m/BOD =46° and m/BOC =26°, then what is the measure of LZCOD?
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14. Ifangle 7OS is acute and angle 7OR is right, then angle ROS is what kind of angle?

A
Z—-—>

a R

X

obtuse right straight acute

-& 15. If an obtuse angle is bisected, the resulting angles are

A. always acute C. never congruent
B. right angles D. always obtuse
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D
[
B
LDCE ZCDE LECD - ZC
— >
17. In the figurc {not drawn to scale), MO bisects ZILMN, m/IMO = (6x —40)°, and m/NMO = (x + 65)°. Solve for x
and find mZLMN.
%, o N
M
5, 10° 21, 251° 3, 61° 21, 172°

18. The nonshared sides of two adjacent angles form a pair of opposite rays. The angles are
X
acute a linear pair
complementary vertical angles

19. Name an angle supplementary to ZDOE.

7]

ZDOE
ZDOB

/DOE or ZAOC
/ZDOC or ZAOE

(V]



Complete the conditional statement tc make a true statement.
20. If ZRand /S are complementary and mZR = 15°, then

msS =175° m/S = 165° msS =195° mZS = 105°

21. Which statement(s) may be true about the two lines shown in the diagram?
hV2 I. The lines are coplanar.
II. The lines are parallel.
II1. The lines intersect in one point.

/; 3% = 7
/// i ;“J/
\
¥
1 only 1 and ii only ii and 1ii oniy 1 and il only

22. What is the distance between point A(-3, 2) and point B(5, —1)?

23. In the diagram, what are the values of x and y?
Y

Y

{2y ~ 17} .
"‘a\\
x5
x=47,y="75 - x=75y=47
x=47,y=74 x=71,y=51
24, /1 and £2in the diagram are ?
_3& \\\
\"x
Y
2N
x\\\
vertical angles a linear pair
complementary supplementary

25. Given points G(2,10) and H (—6,-10) find the coordinates of the midpoint of GH.

(-2.10) (4, 0) (-2 o) (8, 20)
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